Subtracting Integers
Name:  					Div.:  				Date:  				
Subtract on a number line by starting at the first number and then moving away from the sign of the number you are subtracting the same number of spaces as the number.
[image: http://www.helpingwithmath.com/images/numbers/int_AddSubtract07.gif]Subtracting means you move AWAY from the sign of the number you are subtracting. E.G. Away from the negative 3 spots.




Subtracting Integers is the same as adding the opposite integer:
            is equal to         


Subtract using a number line:
1. 
2. 
3. 
4. 
5. 
6. 
7. 
8. 

Subtract using an integer tile diagram:
9. 
10. 
11. 
12. 
13. 
14. 
15. 
16. 

Subtract by using opposite operations:
17. 
18. 
19. 
20. 

Simplify (Solve).
21. 
22. 
23. 
24. 
25. 
26. 
27. 
28. 
29. 
30. 
31. 

Decide whether each statement is always true, sometimes true, or never true.  Explain.
32. Adding an integer is the same as subtracting its opposite.
33. Subtracting  from an integer gives a smaller integer.
34. Subtracting a negative integer from a negative integer gives a positive integer.
[image: ] 
35. Towers:
CN – 553m
Sear –480m
Eiffel –320m
Mines:
Kolar – (-2622m)
Nova Lima – (- 2453m)
Boksburg – (-3427m)
Western Deep – (- 3440m)
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91. Some people work at
the tops of tall buildings

o at the bottoms of mines.
The diagram gives some
elevations. Caleulate the
difference in each of the
following pairs of elevations.

2 the Sears Tower and
the Eiffel Tower

) the CN Tower and

the Kolar Mine

4 the Sears Tower and

the Nova Lima Mine

a) the Eiffel Tower and

the Western Deep Mine

o the Boksburg Mine and
the Kolar Mine

) the CN Tower and

the Western Deep Mine

8) the Nova Lima Mine and
the Western Deep Mine

92. 2) Mount Everest has

an elevation of 8863 m.
Death Valley has an
elevation of ~86 m. What
s the difference in these
elevations? -

b) The surface of the

Dead Sea has an elevation
of =400 m. Which is higher,
the Dead Sea or Death
Valley, and by how miuch?
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What Happened to the Dallas Sheep Rancher Who Claimed
He Was Going to Start Selling Wool in 47 Different Colors?

Do each exercise below and find your ans one o the boxes at the bottom
of the page. Wiite the letter of the exerci t box. (To help you locate your
answer quickly, the answers are arrange r from smallest to largest.)

® -8-3= ® -5-16= @ 5-12-7=

® 4-(-1n= ® 30+@-5= ® 100-97+9=

® 2-11= ® 2-(1-9= © 10-4-4-4=

@ -12-(-19)= ® (-22+33)-11= (® -38-12+36-12=
® s0+(-8)= ® -10-(8-10)= (@) -3+40-10-8=
® 3-(-9= © 6-1-(-12+2= © -16+9-2+46=
® -11-7= ® (-15-15)=(15-13)= © -5-5-5-5=

@ 20-25= ® 6-7-©-12)= ® (-3-12) - (-40)=
® -36-(-6)= ® (-25+50)- (~4-6)= © 2-(32-34)=

® 13-(-4= @ -2-5-3= W 10+(-6-1+4)=
® -3+16= ® -18+14-2= ® (-3+8-5)-(-11)=
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